ApxumekmypHblU NPOeKM
MHduBudyanbHbu Xunou doM
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3Kcnaukauus noMeuweHud
Ne HaumeHoBaHue Maowads
noMeu,eHus M2
1 |BxodHas 2pynna 4.0
2 |Mpuxoxas 11.78
3 | Xunas koMHama 18.11
L |KyxHs-2ocmuHas 21.32
5 |CaH. ysen L4
6 [Xunas komMHama 13.54
7 |KnadobBas 1.13
8 [Xunas koMHama 18.11
MonesHas nnaowads 98.73
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CxeMa opzaaHu3auuu npocmpaHcmba

3Kcnaukauus noMeuweHud
NO HaumeHoBaHue Maowads
noMeu,eHus M2
1 |BxodHas 2pynna 4.0
2 |Mpuxoxas 11.78
3 | Xunas koMHama 18.11
L |KyxHs-2ocmuHas 21.32
5 |CaH. ysen L4
6 [Xunas komMHama 13.54
7 |KnadobBas 1.13
8 [Xunas koMHama 18.11
MonesHas nnaowads 98.73
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BodocmoyHas BopoHka 7

NNAH KPOB/IN Ha omm. +6,000

— BodocmoyHas BopoHka
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— BodocmoyHas BopoHka
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